Tube Fitting Series Spatter

unit:mm
Model Tu(t;eDtljla. Tu(t;ggla. R A B L c1lc2 | H M(z:;s E?prrglr%e) I(Er;fmazl)
Straight PC 4-M5 V-0 M5%08 25 215 10
9D2 PC 4-M50 V-0 Wsx08| ° 275|225 g |75 18 19
@ PC4-M6V-0| 4 6 |M6x1| 4 215| 20 |155 10 6.2
PC 4-01 V-0 R1/8| 8 | 26 | 22 95| 3 5 3
PC 4-02 V-0 R1/4| 11 20 14 | 17
L H == | 8 PC6-01V-0 Rug| 8 | 27 | 23 12 | 10
@ ﬁ’\ N ’O PC6-02V-00 6 8 |RUM4| 11 |29.5/255(215/165| 14 | 18 | 46 | 125
[ PC 6-03 V-0 R3/8| 12 |285| 22 17 | 28
< %LM PC 8-01 V-0 R1/8| 8 |325| 27 4 1658
‘ PC8-02V-0, 8 10 |R1/4| 11 | 31 | 25 |225|17.5 ; 20
EQE PC 8-03 V-0 R3/8| 12 |285| 22 17 | 25
% PC 10-01 V-0 R1/8| 8 | 35 | 31 24 6 22.9 B
, PC 10-02 V-0 R1/4| 11 | 34 | 28 17 |21.5 1
Mettc thread type pC10-03v-0] ° 12 Ra/8| 12 |335 275 2 | 2 275 85 | 35
PC 10-04 V-0 R1/2| 15 |34.5| 26 21 |50.5
. PC 12-02 V-0 R1/4| 11 | 41 | 35 44 | 85 35
i PC 12-03V-0| 12 14 |R3/8| 12 | 37 |30.5|285|235| 21 | 45 11 5o
o PC 12-04 V-0 R1/2| 15 | 39 | 31 68
unit:mm
Tube dia. | Tube dia. Mass| Orifice | Eff. a.
Model op1 002 R|A|B|L|gP|Cl|C2|E |H (@ | (mm) | mmd
PL 4-M5 V-0 M5x08| 3 |20.5 - 10| 18 | 15
PL 4-M6 V-0 4 5 M6x1| 4 |21.5 12| 20 |55 23|10 |105
PL 4-01 V-0 R1/8 8 [23.5/25.5 ' 13| 3 4.2
PL 4-02 V-0 R1/4| 11 |26.5|26.5 185| 14 | 22
PL 6-01 V-0 R1/8 8 | 25|28 12 | 15
PL 6-02 V-0 6 8 R4 11|28 |29 |14 |21.5/16.5(245| 14 | 24| 4.6 10
PL 6-03 V-0 R3/8 12 | 30 |30.5 17 355
PL 8-01 V-0 R1/8 8 | 28|32 14 19.5
< N PL 8-02 V-0 8 10 |R1/4/ 11|31 | 33| 16 |22.5/17.527.5 25| 6 16.5
‘ PL 8-03 V-0 R3/8 12 | 33 |34.5 17 375
ml;% PL 10-01 V-0 R1/8| 8 | 29 |42.5 32| 6 22.4 B
- PL 10-02 V-0 R1/4 11 | 36 |39.5 17 | 35 1
Metric thread type PL 10-03 V-0 & 12 Ragl 12 [37 |40 | 19| 20| 20285 44| 8 30
PL 10-04 V-0 R1/2| 15 | 40 |41.5 21|65
PL 12-02 V-0 R1/4| 11 | 38 | 43 52| 8 30
PL12-03V-0| 12 14 |R3/8| 12 | 39 43,5 22 |28.523.5/ 31 | 21 |53.5 10 47
- - PL 12-04 V-0 R1/2| 15 | 42 | 45 76.5
-
unit:mm
Model Tu(?)eD;ila. Tu(l:;eDgla. R|A|B|L|gp|lci|c2|E|H lv(lgs)s %lrfllrcr:g I(Er;fmazl)
Tee PB 4-M5 V-0 508 3 205/ s 18 | 15
PB 4-M6 V-0 M6x1 4 |21.5 107
PB 4-01 V-0 4 6 RS 8 |235/255 2| 2015522 15| 3 41
PB 4-02 V-0 R1/4 11 |26.5/26.5 14 | 25
PB 6-01 V-0 R1/8| 8 | 25 | 27 12 | 19
PB6-02V-0, 6 8 R1/4| 11|28 |29 |14 |215/165(245/ 14 [ 28| 5 10
PB 6-03 V-0 R3/8| 12 | 30 |30.5 17 |39.5
PB 8-01 V-0 R1/8 8 | 28|32 14 1245
PB8-02V-0, 8 10 |R1/4/ 11|31 |33 16 |22.5/17.527.5 30| 6 16.5
PB 8-03 V-0 R3/8 12 | 33 |34.5 17 42,5 B
PB 10-02 V-0 R1/4 11 | 36 |39.5 EE 1
PB 10-03V-0| 10 12 |R3/8/ 12 |37 | 40| 19 | 25 | 20 |28.5 52| 8 30
PB 10-04 V-0 R1/2| 15 | 40 |41.5 21|73
PB 12-02 V-0 R1/4| 11 | 38 | 43 64| 8 30
PB12-03V-0| 12 14 |R3/8| 12 | 39 43,5 22 |28.523.5/ 31 | 21 |65.5 10 47
PB 12-04 V-0 R1/2| 15 | 42 | 45 88.5




